Equivalent Fractions: 2

Six horses share three bales of hay equally.
Eight horses share four bales of hay equally.

Which animal gets the most hay, or are the shares equal?

Six girls share ten pizzas equally.
Nine boys share fifteen pizzas equally.

Who gets more pizza, a girl or a boy, or are the shares equal?

Twelve oysters are shared equally by eight seagulls.
Eight oysters are shared equally by five albatrosses.
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Which bird gets a bigger share, a seagull or an albatross? -ﬁ...._.% h \
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Twelve goats share nine bales of hays equally.
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Nine sheep share five bales of hay equally. 3 B o
Which animal gets more hay, a goat or a sheep? !‘I m
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A number of monkeys share a number of bananas equally. @
There are more than 15 monkeys. Each monkey gets four fifths of a banana.

How many monkeys and bananas might there be? . r” J
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Eight cows share five bales of hay equally. ’ ('
The horses get exactly the same share of hay. e |

How many horses and how many bales of hay might there be?
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